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Coordinate Geometry of
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Distance Formula

A=(x;,y1) & B(x,,y;)
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16. In the figure, A(1, 3), B(-2, 0) and C(2, —4) are the vertices of a y

, 1 Ans
right-angled triangle. ks
(a) Find, in surd form, the lengths of 4B and BC.
B(-2,0)
(b) Find the area of AABC. Py 4
c(2,-4)

Source: Mathematics in Action (Second Edition) Supplementary Exercises 3B
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Applications of Slope

]1.Collinear 4¢
2.Parallel -“F47
3.Perpendicular
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Test myp = mpc
my = m;

m1>< I’}’Z2=—1



Collinear 34 g = y‘ f
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14. The figure shows three points A(5, 2), B(-1, 0) and C(—4, -1). K A(5, 2)
(a) Find the slopes of 4B and BC. B(-1,0)
/ > X
@ (b) Determine whether the points 4, B and C are collinear. 4 .
Source: Mathematics in Action (Second Edition) Supplementary Exercises 3B
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Collinear 43

15. In the figure, 4, B and C are collinear.

(a) Find the slope of AB. ”"F q’ AS = g.._l - 5

-y

(b) Find the value of A. YASR
5’ o'x XC: h-I
* -1
-" A,B,L ot C-'l;x"

Source: Mathematics in Action (Second Edition) Supplementary Exercises 3B -
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Parallel "::"/f m; = m»,

15. In the figure, the line segment AB is parallel to another line

segment CD. Find the value of c.
hpe 9 A = shpe
3= U-c
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Source: Mathematics in Action (Second Edition) Supplementary Exercises 3B P
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Perpendicular i & m X my=—1

13. Itis given that A(2, 3), B(-3, 0) and C(8, ~7) are the vertices of AABC.
(a) Find the slopes of 4B, BC and CA. k
(b) Prove that A\ABC is a right-angled triangle.

Source: Mathematics in Action (Second Edition) Supplementary Exercises 3B
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Mid-point Formula % 25 K,
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Mid-point Formula ¥ 25/ &,
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Section Formula 425/ 5K,
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Section Formula 425 /A &,
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Section Formula  %-Z5 /A R,

Find AP:PB let AP:PB=-Tr:s
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Source: Mathematics in Action (Second Edition) Supplementary Exercises 3B
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Analytic Approach 47k

mid-point theorem ¥ % & 3%
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Analytic Approach g #77%

mid-point theorem P %k & 3%
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Analytic Approach AZ#7 7%

1.Distance Formula IE & N\ =,
2.Slope 4+ %

LAy

Parallel “F47, Perpendicular 2
tan ¢ =m inclination 18 f

3. mid-point , section formula
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